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= i o FERf2fE | ER3E | FRAE | THSE | TH6E | FHuE | FHssE | FHE | FHI0E
5 3 B % 10kg 5,234 5,249 5,464 5,702 7,685 5,780 *5,439 *5,238 4,949
B A v ke 399 399 397 399 399 399 399 405 406
* ¢ ) 100g 385 397 402 430 438 437 436 465 486
b5 C 100g 214 209 186 163 153 153 162 148 155
i} x I+ 100g 313 311 311 305 286 290 259 271 276
73 2] 100g 164 167 165 167 166 175 183 188 196
® 2] 100g 109 112 113 109 106 102 11 115 115
& £ 19 212 222 223 220 210 206 220 223 223
b B ke 304 346 265 261 263 289 314 323 295
X vy Ry ke 134 213 123 205 179 153 128 144 207
= v 5 Y ke 463 503 435 484 432 419 401 395 507
FLOY-BEZEDY 11 432 *508 508 509 511 *511 511 519 523
= g 100g 33 33 32 31 31 31 33 34 35
H ) Y 1ke 430 495 455 366 477 497 448 417 407
B A i 1K *578 627 669 628 502 415 357 357 358
H % 14 351 391 390 373 374 370 370 407 411
B #F A R W 100g *123 124 118 112 112 102 99 101 102
= T = A 100g 89 93 95 95 93 92 92 98 99
AYvRAVRFa—E— 1X 839 *751 759 770 770 788 664 826 842
& i 1A *1,750 1,855 *1,803 1,780 1,850 1,893 1,888 1,916 1,925
El L IPN:I] 833 917 961 967 967 944 917 1,023 1,047
hiL —353 4R 1m 514 540 565 583 583 583 583 604 577
. E— ) (4 ﬁE) 1K 497 523 529 523 523 *527 527 532 533
XFE (R &) 1hA 4,391 4,610 4,764 6,143 6,415 6,303 6,086 6,045 6,308
g K% W B B 1 5,954 6,100 6,542 6,750 6,750 6,750 6,635 7,000 7,125
XK I F B & 18 15,500 16,500 17,000 17,420 18,000 18,000 18,000 18,680 18,900
£ B - K &
7o R H R om 4,952 5,497 5,480 5477 5,454 5,370 5,375 5,631 5,665
KT B} 184 934 1,022 990 997 970 890 901 1,007 921
X E-REHRH®
E R[5 B E 18| 122,130 121,230 *178,490 179,470 *198,230 *193,840 180,560 143,320 136,940
x E R % A 158 698 720 723 661 648 597 568 *563 538
R EUEZY
L A R 1% 48,150 52,560 60,510 49,740 47,430 42,700 47,530 50,230 50,500
Z R R H — b 14 3,362 3,924 4,257 5,591 4,964 3,885 2,830 2,798 3,459
74 Y v v 145 4222 4,644 4,446 4,524 4179 *5,070 4,824 4,651 *4,904
C:] F §t 12 11,120 11,180 11,810 11,940 11,810 11,810 11,810 11,980 11,980
b E [} 1% 1,025 1,018 1,040 1,067 1,125 1,139 1,150 1,150 1,154
£ % E &
=% g = 155 1,130 1,119 1,119 1,141 *1,647 1,597 1,587 1,617 *1,591
£ B A K 1% *538 543 *551 481 478 505 492 *582 547
X B & g
N 2z £ 1=X 150 153 160 160 168 170 170 170 170
" BEHELY 'J‘% 10 125 123 117 119 113 101 102 100 91
INERPTAZS B 1/, A 220 228 230 230 230 230 230 230 235
% REH 1hA 15,500 16,180 17,630 19,630 20,630 21,360 21,950 22,730 23,210
EEYREEN 1/ A 20,800 20,720 20,720 22,630 22,630 22,660 23,300 23,300 23,450
T L (s 158 82,380 88,030 80,230 65,700 57,050 46,990 40,800 39,820  *74,020
h * > 18 33,640 31,550 28,660 38,390  *31,140 *48,640 %52,990 *46,550  %38,680
R B (nxnH" é 15 A 4833 4917 5,000 5,431 6,333 6,708 6,833 6,958 7,000
5 #*
i z # 108 3,073 3,138 3,306 3,404 3,469 3,550 3,550 3,588 3,600
; 6,195 6,300 6,460 6,657 6,749 6,749 6,749 6,848 6,881
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